Q.1

Exercise 9.1

Find the distance between the
following pairs of points

Solution:

(a)

(b)

(c)

(d)

4(9.2),B(7,2)

Distarice =[x, —x,[ +|y, - |
|4B|= [T =9 |2 -2

[4B] = y(-2)"+(0).

|4B| =

|[4B] =

4(2,-6). B(3.6)

Distance = \/ | X,

|4B| = \/|3 -2 +|-6-(-6)[
|4B]= (1) +(=6+6)’
|4B|=1+(0)’

NGl

48]
AB =1

A(-8,1),B(6.1)

2 2
_x1’ +‘y2 _y1|

Distance = \/ |

14 B|=lo- (-8) +[1-1
|4 B|:\/(6+8) +(0)2
|4 B|=J(14)°

|4 B|=14

A(-432) 543)

d =, —x[ +]y, -y

2 2
_x| +|Yz_Y1‘

(e)

("

Q.2

4= |4 (4 +] 32
|AB\:\/(—4+4) +(—(3+ﬁ))
|AB|:\/(O)2+(3+\/5)2
[48]=(3+42)

|4 B|=3+2

A(3,-11), B(3 —4)
d=yx. -
|4 B|= \/\3—3| +|-4=(=11)f
|4 B|=J(0) +(~4+11)

|4 B|=(7)
7

|48 =

J/l

1

4(0,0Y, B(0,-5)
d=le, x|+, -n[
|4 B|=Jlo— 0] +|-5—0f
|4 B|=/(-5)

|4 8| =

|4 B|=

Let P be the print on x-axis with
x-coordinate a and ( be the point
on y-axis with y coordinate b as
given below. Find the distance
between P and

Solution:

(i)

a=95b=7
Pis (9,0)and Q (0, 7)

d =\, x| +]y, |

P 0= lo-of +|7-0f




(ii)

(iii)

(iv)

[P 0l=y(=9) +(7)
P O]=/81+49
[P 0]=+130

a=2,bh=3
P(2,0),0(0.3)

d = \/|x2 —x1|2 |y, —y1|2
20| = lo-2f +p-of
P 0l=J(=2) +(3)

P O] =V4+9

[P o]=13

a=-8b=06
P(-8,0).0(0,6)

| =% = x[ +ly. [

P Q|:\/\0— -8) +|o-0f
[P0 =(8) +(6)

1P O|=+64+36

[P 0]=+100

[P O|=10

a=-2.b=-3
P(-2.0).0(0,-3)

] = J‘ —x [y, [
d = \/\ 0-(-2) +|-3-0f

=y ()
J13

)

(vi)

a:Jibzl
P(2.0).0(0,1)

P(-9,0),0(0,-4)

d—Jh—erh—Mf

P o|= \/|o +\ 4-of
[P 0= () +(-
|PQ]:\/81+16

[P 0| =97



